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d MuCbn 1 olnlJouru 1 

IN' 2X, + 3X, = 42 

61 XI = 0 :. X, = 4213 = 14 

67 X, = 0 .*. XI = 42/2 = 21 

.'.16gFl(O,14) 

.'.'l+?igm (21,O) 
U Y d  oiniouIuG~nuuun 2 

%# 2X, + 2X, = 30 

41 XI = 0 .*. X, = 3012 = 15 

41 X, = 0 .*. XI = 30/2 = 15 

.'.ldQn (0,15) 

.'.!+?iga (15,O) 

o1fl~ouYuuvJ?%Ju'oi 3 

%# 4X, + 2X, = 48 

61 XI = 0 .'. X, = 48/2 = 24 

61 X, = 0 .'. XI = 4814 = 12 

.*. 18lW (0,24) 

.'.18gm (12,O) 

Qltl6%U?lJlh%J~Qd 4 

I# XI = 2 

:. odn'x, = 2 dlHYlJynq 61uua x, 
oindouruGd6uGoi 5 

9x x, = 10 

:. od8x, = 10 dlMYuQnq n1u04 x, 
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.', 96 = 12X, + SX, 

12X, + 8X, = 96 W"un"0 
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2) 01fl 12X, + SX, = 96 

81 X, = 0 .'. X, = 96/8 = 12 .*. l&JFl(O,12) 

81 X, = 0 .'. X, = 96/12 = 8 .'. 1k;qR (8,O) 
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A d 
2X, + 2X, = 30 

4X, + 2X, = 48 

................. (1) (ointaouluu'JriuCbn 2) 

................. (2) (olnl iouluujn'yu'oi  3 )  

(2) - (1) 2X, = 18 

:* XI = 9 

LLMW61 X, IU ( 1 )  (2 x 9) + 2X, = 30 

2X2 = 30-18 = 12 

X, = 1212 = 6 

.'. 9 W  C n"0 (9,6) 

* A  
MaximizeZ 0rJM X , = 9 ,  X , = 6  

'IWU Maximize Z = (12 x 9) + (8 x 6) 

= 156 uin 
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pi1 (XI, X,) 2 = 12x1 + SX, 

Z = (12)(2) + (8)(0) = 24 

Z = (12)(12)+ (8)(0) = 144 

Z = (12)(9) + (8)(6) = 156* 

(5,101 Z = (12)(5) + (8)(10)= 140 

(2, 10) Z = (12)(2) + (8)(10)= 104 
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w i  (x,, x,) o1 Qn D 14itnunisiiirunn 2 $u 346 
A 

A 
2x, + 2% = 30 

X, = 10 

............... (1) (oiniaouIuu'Jnir(ioi 2) 

............... (2) (oini.rouIuujnirtbd 5 )  

2X, + 20 = 30 

2x, = ,  10 

x, = 5 

.'. 01 D XI = 5, X, = 10 

2X, + 3X, 5 42 

N. QFl MaximizeZ Id XI = 9, X, = 6 

.'. 2(9) + 3(6) = 18 + 18 = 36 &%ud 

.'. L-JClllJQJiFIfQdo'ns A l M 8 Q  = 42 - 36 = 6 'hllJ4 
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